eosl O|&td}t Ofste| ==
HIZHS 37|

Ol

o ZF 2X0 sligst= 5 MESHH 3xi2| HEHSE HOLEM L.

Ofru

46 | 32 | 31
50 | 29 | 51
1. 30 O|4t 50 O|3}Ql = HIZHS A|Fa,
| & |5Hol e = A= 49 | 37 | 44
2|9 =& XE HA|ISHEAM L.
52 28 30
48 33 45
47 | 53 | 70
44 | 76 | 4.6
2.46 O|a 72 Oléri_l TE H7t=2 A1, 58 | 56 | 64
O 29| =5 XE HAISIEAM L.
72 | 45 | 73
6.8 | 50 | 6.2
183 | 143.6  184.2
165.3 | 162 1083
014 1632 OI3el $& #Iztg
3. 118.3 0l 1632 Ofet T ee= 177.211385| 118
A0, O 2|9 == XE HAISHEAM LS.
11541 118.3|163.8
163 | 156.7 | 83.1
[ | L.
Hl E“:'u_'lit O]0]0)
0|4 0|82 0|83 M2 ZHZ DHS0| H1 SjTste 42 KopEA|C}




@ ol ofstel 22
b HUHS 37| 0z

1. 30 Ol&t 50
el == XE ®

2. 46 O|a 72
a 2o == X

18.3 184.2
165.3 108.3
3. 118.3 0|4 163.2 0|5}0 == HIZIES
- L oD i 177.2 118
Ag|F=10, O 29 == XE HEA|SENM L.
115.4 163.8
16.3 83.1

O|%f, O[3tE 0|83 M22 ZME =0 B 3igst= =5

plas

tOt& AICE,




